Reservdels nr PCW-4000

32-0055

2022

PART OF 45-0

€. Ex Skr ex. inkl.
PCW-4000 |Text moms moms moms
10-0098 BUSHING FOR SAFETY HOOK € 3,00 36,90 46,13
10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN €0,90 11,07 13,84
10-0131-R04 STEEL ROPE GUIDE FOR CAPSTAN DRUM 76 MM €30,00 369,00 461,25
10-0427 ALUMINIUM ROPE GUIDE FOR CAPSTAN DRUM 76 MM €10,00 123,00 153,75
10-0136 ROPE ENTRY HOOK FOR SERIES 3000 AND 4000 WINCHES €12,00 147,60 184,50
10-0137-R03 WINCH HANDLE FOR SERIES 3000 AND 4000 €30,00 369,00 461,25
10-0478 ROPE RETAINING HOOK €16,00 196,80 246,00
10-0479 GROUND PLATE €23,00 282,90 353,63
31-0010 HCS 1/2-13 X6 - GR5 - ZN € 3,60 44,28 55,35
31-0038 MACHINE SCREW 10-24 X 3/4 - ZN (PAN HEAD SQ. DR.) 0,00 0,00
32-0008 HEX FLANGE SERRATED BOLT M8-1.25 X 16MM - ZN €0,50 6,15 7,69
32-0009 SHCS M5-0.80 X 10 MM €0,20 2,46 3,08
32-0018 BHCS M6-1 X 25 MM - SS €0,70 8,61 10,76
32-0051 SHCS M6-1.0 X 16 MM - ZN €0,30 3,69 4,61
32-0055 BHCS M5-0,8 X 8 MM - SS €0,30 3,69 4,61
32-0064 SCHS M8-1.25 X 20 MM - ZN €0,70 8,61 10,76
32-0065 FHCS M5-0.8 x 50 MM - SS €0,60 7,38 9,23
32-0066 HEX FLANGE SERRATED BOLT M6-1 X 60 MM - ZN €1,30 15,99 19,99
33-0005 NUT 1/2-13 NYLON - ZN €0,40 4,92 6,15
34-0006 NUT M5-0,8 NYLON - ZN €1,30 15,99 19,99
35-0004 FLAT WASHER 1/2 - ZN €0,40 4,92 6,15
35-0022-R01 SHIM WASHER 7/8" OD X 11/32"ID X 0.132" €3,10 38,13 47,66
36-0001 FLAT WASHER M6 - ZN €0,10 1,23 1,54
36-0004 FLAT WASHER M8 - ZN €0,10 1,23 1,54
36-0006 FLAT WASHER M5 - ZN €0,10 1,23 1,54
39-0026 RETAINING RING EXT. 25 MM €1,00 12,30 15,38
41-0021-R01 THROTTLE CABLE ASS'Y PCW4000 €22,00 270,60 338,25
43-0057 KEY FOR CAPSTAN DRUM 76 MM (8 MM X 30 MM) €1,40 17,22 21,53
43-0060 O-RING BUNA-N 70A 1/4 1D X 3/8 OD €0,10 1,23 1,54
44-0256 FIBER RENFORCE CAM CLEAT FOR ROPE 3 TO 12 MM € 60,00 738,00 922,50
44-0257 LABEL - ROPE INSTALLATION €1,30 15,99 19,99
44-0268 LABEL - MULTI-ICONS FOR WINCHES €1,40 17,22 21,53
44-0269 LABEL - DO NOT USE FOR LIFTING €1,20 14,76 18,45
45-0051 HONDA ENGINE GX50NTS3 €578,00 7 109,40 8 886,75
45-0053 TANK GUARD GX35/GX50 WITH INSERTS €2,30 28,29 35,36
45-0054 SHCS WITH FLANGE M5 X 30 MM GX35/GX50 €0,10 1,23 1,54
49-0032 TYPE "U" DRIVE SCREW #4 (0.114" X 1/4") S/S €0,30 3,69 4,61
70-0031 ON/OFF SWITCH ASSEMBLY FOR PCW3000 AND PCW4000 €10,00 123,00 153,75
70-0130-R02 ANTI-ROLLBACK MECHANISM ARM € 89,00 1094,70 1 368,38
70-0132-R01 CLUTCH DRIVE ASSEMBLY € 189,00 2 324,70 2 905,88
PCA-1120 76 mm standard trumma inkl. repstyrning €75,00 922,50 1153,13
PCA-1281 SAFETY HOOK WITH LATCH €6,00 73,80 92,25




